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1. Answer hricfly any Six parts from the fallowing. =11

e _ (M5-Accen)
{EI Dilferentiate between data redundancy and data inconaimtency,
i.'_u? What diy you mean by l.hilm independence? (1) Write three impartant eharseternistion of »
primary key, .I".ﬂ Why feasibility study is uned?  (v) Deline databane anomilien. (vi)
Describe transitive dependency.  (vii) What do you menn by Kelutional Data Hase
Management System?
(vin) Define Referential Integrity, (ix) What are check hoxes?

RN Answer briefly any SIX parts from the followings: 6*1=I11
C = Language
(i) What do you know about delimilers?
(i) DifTerentiate between Campiler and literpreter?
(iii)  Define expression?
(iv)  Rewrite the expression nt++; without using the operator ++
(v)  What will be the output of the following
int number = 6,
int x =10,
X = number --;
printf (™%din", x);
(vi) Find errors in the following code segment
int a b;
a=10
b=25;
printf (“a+b = %c", a+bh);
(vii) Define getch function?
(viif) Write C- statement to print the value of unsigned long x.
(ix)  What will be the Output of the following.
printf ("55\");
printf (“555);
4. Answer briefly any Six parts from the followings:- 6x2=12

C~Language ;
(i) Define condition. (ii) Define if statement.  (iii) Define logical operators

(iv)  Define -while Loop

Convert following while loop into for Loop.
(vy intc=0;
while (c<5)

[
printf(*%d\n" c);
et

)
(vi) Determine the output
for(a=5;a<=5;a=a+5)

printf (“%d" a);
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KA d ieriigen bAmilkes

SN Questinny —1 K 1 ( L
. The autput of a database application | Form “Ouery il # it Marri
L& ]
1. | Thedatantableisenteredin | Dalasheet | Layoul view | [leakgn view Matrmal
——— T Y Wi vipw
3 E: m of file that conlains data is ~ data file Program lile image file Cpuery file
¢
4, Which of the fnl'u;w'l'l.m s also Tm by ﬁ)" T Candidnte Bt Key Fonnign
kinown as control Kay? s Key E— ey
S Which of Ihe following is used to Modality | Amribute | ¢ “ardinality Frlity
describe the characteristics of an
|| object? ——
6. | InINF. a non-key attribute must ot Key | Synonym | Homonym Mo Kay
not depend on niteibute
C Language AR
S.N. Questigns A | I - b
7 | The process of sending an Sending Pasning Filtering Duliver ing,
argument to a function is called
8 | On Successfully closing a file, the 0 (Zero) NULL 1 {One) | File Pointes
felose { ) relums
9 | Which of the following language ] Cot T Paseal | COROL
provided the basis for the
development of C7 : 2 =
10 | The number of digits atler a decimal Significance Range Precision Senpe
poin s called IATRGES e
11 | Which character signifies the \ ( ] |
inning of an escape sequence’? . | IS
12 | Conditional operator is an if 1f-else Mestod if felae !
altemative of : | Le
Which programming structure Sequence RElation Decision Tepitition
13 execules program statements in
order? e
14 | Whal does a compound condition Relational Relational Logleal Logieal
use ta join lwo conditions? Operator Resull %lﬂlll | Opeistor |
15 | While loop is also called Wend loop | Counter loop : ilional Cﬂ:;:pm
oap
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